Ws 1 - Limits from Graphs and Tables

1. f(0)=

2. XILT f(x)=
3. XILT f(x)=
4. limf(x)=

5. 1im f (x)=

6. f(4)=

7. f(1)=

8. lim f (x)=
9. Xllrg f(x)=
10. lim f (x)=

20. h(-3)
21. xIlr_r;h(x)
22. lim h(x)
23. lim h(x)
24. £(2)
25. limh(x)

26. limh(x)

x—3"

27. limh(x) =

X—3

11. g(-4)

12. lim g

13. lim g

14. limg(x) =

)
15. limg(x)=
)

16. limg(x)=

17. limg(x) =

18. g(0)
19. g(1)




28.

29.

30.

31.

Fill out the table. Use to find the limit.

X -1

f)="= x_ |097 [098 [099 [1 [1.01 [1.02 [1.03
| - f
fm £ =
fim £(x)=
imf(x)=

X
)=
lim £ (x)= x_|-003 [-002 [-001 [0 [o001 [002 [003
o f(x)
i f )=
IXi_rBf( ):
f _smx
(== x_|-003 [-002 [-001 [0 [001 [002 [0.03
i 100 o
i ()=
lim £ (x) =

[24
flx)=—> x_[-0.03 [-0.02 [-001 [0 Jo001 [002 [0.03
i = f(x
fig 1) .
i ()=
lim £ (x) =

OH, YEAH? TOUR WELL, YOUR MoMMA Bovys, I SAID  SORRY, MISS

YOUR ™MoMiMA THINKS
SQUARE RooTS
ARE VEGETABLES.

COULDM'T INTEGRATE A
NESTED TRIG FUNCTION,
EVEM IF Tou LET HER

HO TALKING . O'MALLEY,

TRASH
OH, MAN, THAT
LAST omE HURT.
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